© 2024 Hansa Armaturen GmbH - www.hansa.com - 25.04.2024

09302203 HANSATWIST - Waschtischbatterie

EAN: 4015474269095
static.hansa.com/09302203

Ersatzteile

SP09302203

Name Art.-Nr.
1 Hebel Chrom 59913910
1 Hebel Chrom 5991391
11 Schraube, M5x8, SW2.5 59904755
13 Dekorkappe Grau 59912112
2 Abdeckkappe, 33x3 mm Chrom 59912504
3 Spann-Mutter, M40x1 1003409V
4 Kartusche, 3.5 Classic 59913075
4 Kartusche, 3.5 59913965
51 Bodendichtung 59914591
52 Befestigungssatz 59912113
53 AnschluRschlauch, L=430, G3/8-M8x1 59913964
54 0-Ring, 6x1.4 59913266
55 Dichtung, 9.5x14.4x2 59912551
56 Befestigungsschraube, M8x1, L=140 59912474
57 Anschlussrohr, M8x1-M14x1, =214 59914035
58 Verbinder, G1/2xM14x1 59914180
6 Luftsprudler, M24x1, 6 [/min Chrom 59913727

1


https://static.hansa.com/09302203

